


Cantilevers and Components 

www.pfisterer.com   1 



Cantilevers and Components 
 

 

www.pfisterer.com      3 

 

 

ALUMINIUM CANTILEVER IN MAIN LINE FOR HIGH SPEED LINES 

Assembly No. 234.000.001  

 
Application:  

■ 15/25 kV AC 
■ Contact wire: AC/BC 80/150 
■ Messenger wire: 65 mm2 
■ Straight tracks 
■ Simple curves 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 

  

No. Description Material Qty  

234.001.002 

(ASM.SSP-02) 
Swivel with clevis for cantilever bracket 

C-45 (EN-10083) 
2 1 

Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.007.055 
(ASM.SUG-55) 

Eye clamp 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 2 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234-004.570 

(ASM.SUT-55.70) 
Double tube holder 

AlSi7Mg0,6 T6 (UNE-EN 1706) 
1 3 

Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.023.105 

(BIMET 10,5) 
Bimetallic sleeve for 65 mm2 MW 

Cupal 
1 4 

 

234.005.055 
(ASM.SUS-55) 

Catenary Wire support with hook for Ø55 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 5 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.024.055 
(TP-55) 

Tube cap Ø55 
Black PVC 

2 6 
 

234.024.070 
(TP-70) 

Tube cap Ø70 
Black PVC 

1 7 
 

234.007.070 
(ASM.SUG-70) 

Eye clamp 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

2 8 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.008.042 
(ASM.UTA-42) 

End fitting for tube 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

2 9 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.025.012 
(BUCLE.25.12 INOX) 

Registration arm dropper 
St. Steel 14301 (UNE-EN-10088) 

1 10 
 

234.006.055 
(ASM.SGD-55) 

Stay yoke clamping hook 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 11 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.009.001 
(ASM.STG-01) 

Swivel with clevis 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 12 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.010.055 
(ASM.UTA-55) 

End fitting for tube 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 13 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.026.35 
(CONJUNTO TC 16.10 T) 

Equipotential connection wire 
Cu-ETP 

1 14 
Tinned 

234.015.055 

(ASM.SFB-55) 
Steady arm support 

AlSi7Mg0,6 T6 (UNE-EN 1706) 
1 15 

Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.021.105 

(ABATC-1050) 
Steady arm L=1050mm 

AlSi7Mg0,6 T6 (UNE-EN 1706) 
1 16 

Hardware: St. Steel A2 (UNE-EN ISO 3506) 

304.742.002 

(G1TA CH) 
Contact wire clip 

CuNi2Si (S/UNE-EN 12165) 
1  17 

Hardware: St. Steel A2 (UNE-EN ISO 3506) 



Cantilevers and Components 
  

 

4      www.pfisterer.com 

 

 

ALUMINIUM CANTILEVER IN MAIN LINE FOR CONVENTIONAL RAILWAY LINES 

Assembly No. 234.000.006 

 
Application:  
■ 15/25 kV AC 
■ Contact wire: AC/BC 80/150 
■ Messenger wire: 65 mm2 
■ Straight tracks 
■ Curves 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

No. Description Material Qty 

234.001.003 
(ASM.SSP-03) 

Swivel with clevis for cantilever bracket 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

2 1 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.004.570 
(ASM.SUT-55.70) 

Double tube holder 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 2 
Hardware: St. Steel A2/A4 (UNE-EN ISO 3506) 

234.005.055 
(ASM.SUS-55) 

Catenary Wire support with hook for Ø55 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 3 
Hardware: St. Steel A2/A4 (UNE-EN ISO 3506) 

234.023.105 
(BIMET 10,5) 

Bimetallic sleeves for 65mm2 MW 
Cupal 

1 4 
 

234.024.055 
(TP-55) 

Tube cap Ø55 
PVC 

2 5 
 

234.024.070 
(TP-70) 

Tube cap Ø70 
PVC 

1 6 
 

234.025.012 
(BUCLE.25.12.INOX) 

Registration arm dropper 
St. Steel 14301 (UNE-EN-10088) 

1 7 
 

234.006.055 
(ASM.SGD-55) 

 Stay yoke clamping hook 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 8 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.013.055 
(ASM.SAG-55) 

Eye clamp for windstay 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 9 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.012.070 
(ASM.SUA-70) 

Eye clamp for turn for Ø70 tube 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 10 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.011.055 
(ASM.UGG-55) 

End fitting with hook for turn for Ø55 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 11 
Hardware: St. Steel A2/A4 (UNE-EN ISO 3506) 

234.026.350 
(CONJUNTO TC 16.10 T) 

Equipotential connection wire 
Cu-ETP 

1 12 
Tinned 

234.015.055 
(ASM.SFB-55) 

Steady arm drop bracket 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 13 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.021.105 
(ABATC-1050) 

Steady arm straight L=1050 mm 
EN AW 6082 T6 

1 14 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

304.742.002 
(G1TA CH) 

Contact wire clip 
CuNi2Si (S/UNE-EN 12165) 

1 15 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.001.095 

(AV-950) 
Windstay rod L=950 mm 

St. Steel 
1 16 

 

 

  



Cantilevers and Components 
 

 

www.pfisterer.com      5 

 

 

ALUMINIUM CANTILEVER IN MAIN LINE FOR CONVENTIONAL RAILWAY LINES 

Assembly No. 234.000.010  

 
Application:  
■ 15/25 kV AC 
■ Contact wire: AC/BC 80/150 
■ Messenger wire: 65 mm2 
■ Straight tracks 
■ Curves 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

No. Description Material Qty 

234.001.003 
(ASM.SSP-03) 

Swivel with clevis for cantilever bracket 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

2 1 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.004.570 
(ASM.SUT-55.70) 

Double tube holder 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 2 
Hardware: St. Steel A2/A4 (UNE-EN ISO 3506) 

234.005.055 
(ASM.SUS-55) 

Catenary Wire support with hook for Ø55 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 3 
Hardware: St. Steel A2/A4 (UNE-EN ISO 3506) 

234.023.090 
(BIMET 9) 

Bimetallic sleeves for 50mm2 MW 
Cupal 

1 4 
 

234.024.055 
(TP-55) 

Tube cap Ø55 
PVC 

1 5 
 

234.024.070 
(TP-70) 

Tube cap Ø70 
PVC 

1 6 
 

234.024.042 
(TP-42) 

Tube cap Ø42 
PVC 

1 7 
 

234.025.012 
(BUCLE.25.12.INOX) 

Registration arm dropper 
St. Steel 14301 (UNE-EN-10088) 

1 8 
 

234.006.042 
(ASM.SGD-42) 

 Stay yoke clamping hook 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 9 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.013.042 
(ASM.SAG-42) 

Eye clamp for windstay 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 10 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.012.070 
(ASM.SUA-70) 

Eye clamp for turn for Ø70 tube 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 11 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.011.042 
(ASM.UGG-42) 

End fitting with hook for turn for Ø42 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 12 
Hardware: St. Steel A2/A4 (UNE-EN ISO 3506) 

234.026.350 
(CONJUNTO TC 16.10 T) 

Equipotential connection wire 
Cu-ETP 

1 13 
Tinned 

234.015.042 
(ASM.SFB-55) 

Steady arm drop bracket 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 14 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.021.105 
(ABATC-1050) 

Steady arm straight L=1050 mm 
EN AW 6082 T6 

1 15 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

304.742.002 
(G1TA CH) 

Contact wire clip 
CuNi2Si (S/UNE-EN 12165) 

1 16 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.001.095 

(AV-950) 
Windstay rod L=950 mm 

St. Steel 
1 17 

 

  



Cantilevers and Components 
  

 

6      www.pfisterer.com 

 

 

ALUMINIUM CANTILEVER IN OVERLAP FOR CONVENTIONAL RAILWAY LINES 

Assembly No. 234.000.011  

 
Application:  
■ 15/25 kV AC 
■ Contact wire: AC/BC 80/150 
■ Messenger wire: 50 mm2 
■ Overlap 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

No. Description Material Qty 

234.022.021 

(SGM-05) 
Cantilever bracket on pole 

AlSi7Mg0,6 T6 (UNE-EN 1706) 
2 1 

 

234.001.003 
(ASM.SSP-03) 

Swivel with clevis for cantilever bracket 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

2 2 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.004.555 
(ASM.SUT-55.55) 

Double tube holder 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 3 
Hardware: St. Steel A2/A4 (UNE-EN ISO 3506) 

234.005.055 
(ASM.SUS-55) 

Catenary Wires support with hook for Ø55  
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 4 
Hardware: St. Steel A2/A4 (UNE-EN ISO 3506) 

234.023.090 
(BIMET 10,5) 

Bimetallic sleeve for 50 mm2 MW 
Cupal 

1 5 
 

234.024.055 
(TP-55) 

Tube cap Ø55 
PVC 

2 6 
 

234.024.070 
(TP-70) 

Tube cap Ø70 
PVC 

0 7 
 

234.024.042 
(TP-42) 

Tube cap Ø42 
PVC 

1 8 
 

234.025.012 
(BUCLE.25.12.INOX) 

Registration arm dropper 
St. Steel 14301 (UNE-EN-10088) 

1 9 
 

234.006.042 
(ASM.SGD-42) 

Stay yoke clamping hook 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 10 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.012.055 
(ASM.SUA-55) 

Eye clamp for turn for Ø55 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 11 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.011.042 
(ASM.UGG-42) 

End fitting with hook for turn for Ø42 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 12 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.027.042 

(ASM.SGH-42) 
Contact Wire holder clamp 

AlSi7Mg0,6 T6 (UNE-EN 1706) 
1 13 

Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.742.002 
(G1TA CH) 

Contact wire clip 
CuNi2Si (S/UNE-EN 12165) 

1 14 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

 

  



Cantilevers and Components 
 

 

www.pfisterer.com      7 

 

 

ALUMINIUM CANTILEVER IN MAIN LINE FOR CONVENTIONAL RAILWAY LINES 

Assembly No. 234.000.012  

 
Application:  
■ 15/25 kV AC 
■ Contact wire: AC/BC 80/150 
■ Messenger wire: 50 mm2 
■ Straight tracks 
■ Curves 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

No. Description Material Qty 

234.022.021 

(SGM-05) 
Cantilever bracket on pole 

AlSi7Mg0,6 T6 (UNE-EN 1706) 
2 1 

 

234.001.003 
(ASM.SSP-03) 

Swivel with clevis for cantilever bracket 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

2 2 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.004.555 
(ASM.SUT-55.55) 

Double tube holder 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 3 
Hardware: St. Steel A2/A4 (UNE-EN ISO 3506) 

234.005.055 
(ASM.SUS-55) 

Catenary Wires support with hook for Ø55  
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 4 
Hardware: St. Steel A2/A4 (UNE-EN ISO 3506) 

234.023.090 
(BIMET 9) 

Bimetallic sleeve for 50 mm2 MW 
Cupal 

1 5 
 

234.024.055 
(TP-55) 

Tube cap Ø55 
PVC 

2 6 
 

234.024.070 
(TP-70) 

Tube cap Ø70 
PVC 

0 7 
 

234.024.042 
(TP-42) 

Tube cap Ø42 
PVC 

1 8 
 

234.007.055 

(ASM.SUG-55) 
Eye clamp 

AlSi7Mg0,6 T6 (UNE-EN 1706) 
1 9 

Hardware: St. Steel A2 (UNE-EN ISO 3506) 

ASM.UTA-42 

(234.008.042) 
End fitting for tube 

AlSi7Mg0,6 T6 (UNE-EN 1706) 
2 10 

Hardware: St. Steel A2/A4 (UNE-EN ISO 3506) 

234.007.042 

(ASM.SUG-42) 
Eye clamp 

AlSi7Mg0,6 T6 (UNE-EN 1706) 
1 11 

Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.012.055 
(ASM.SUA-55) 

Eye clamp for turn for Ø55 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 12 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.011.042 

(ASM.UGG-42) 
End fitting with hook for turn for Ø42 

AlSi7Mg0,6 T6 (UNE-EN 1706) 
1 13 

Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.026.350 
(CONJUNTO TC 16.10 T) 

Equipotential connection 
Cu-ETP 

1 14 
Tinned 

234.029.042 

(ASM.SAB-42) 
Steady arm support 

AlSi7Mg0,6 T6 (UNE-EN 1706) 
1 15 

Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.030.105 
(ABATA-1050) 

Steady arm 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 16 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

304.742.002 
(G1TA CH) 

Contact wire clip 
CuNi2Si (S/UNE-EN 12165) 

1 17 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

 

  



Cantilevers and Components 
  

 

8      www.pfisterer.com 

 

 

ALUMINIUM CANTILEVER IN MAIN LINE FOR CONVENTIONAL RAILWAY LINES 

Assembly No. 234.000.013  

 
Application:  
■ 15/25 kV AC 
■ Contact wire: AC/BC 80/150 
■ Messenger wire: 50 mm2 
■ Straight line 
■ Curves 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

No. Description Material Qty 

234.022.021 

(SGM-05) 
Cantilever bracket on pole 

AlSi7Mg0,6 T6 (UNE-EN 1706) 
2 1 

 

234.001.003 
(ASM.SSP-03) 

Swivel with clevis for cantilever bracket 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

2 2 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.004.555 
(ASM.SUT-55.55) 

Double tube holder 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 3 
Hardware: St. Steel A2/A4 (UNE-EN ISO 3506) 

234.005.055 
(ASM.SUS-55) 

Catenary Wires support with hook for Ø55  
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 4 
Hardware: St. Steel A2/A4 (UNE-EN ISO 3506) 

234.023.090 
(BIMET 10,5) 

Bimetallic sleeve for 50 mm2 MW 
Cupal 

1 5 
 

234.024.055 
(TP-55) 

Tube cap Ø55 
PVC 

2 6 
 

234.024.070 
(TP-70) 

Tube cap Ø70 
PVC 

0 7 
 

234.024.042 
(TP-42) 

Tube cap Ø42 
PVC 

1 8 
 

234.025.012 
(BUCLE.25.12.INOX) 

Registration arm dropper 
St. Steel 14301 (UNE-EN-10088) 

1 9 
 

234.006.042 
(ASM.SGD-42) 

Stay yoke clamping hook 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 10 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.012.055 
(ASM.SUA-55) 

Eye clamp for turn for Ø55 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 11 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.011.042 
(ASM.UGG-42) 

End fitting with hook for turn for Ø55 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 12 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.026.350 
(CONJUNTO TC 16.10 T) 

Equipotential connection 
Cu-ETP 

1 13 
Tinned 

234.029.042 

(ASM.SAB-42) 
Steady arm support 

AlSi7Mg0,6 T6 (UNE-EN 1706) 
1 14 

Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.030.105 

(ABATA-1050)  
Steady arm 

AlSi7Mg0,6 T6 (UNE-EN 1706) 
1 15 

Hardware: St. Steel A2 (UNE-EN ISO 3506) 

304.742.002 
(G1TA CH) 

Contact wire clip 
CuNi2Si (S/UNE-EN 12165) 

1 16 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

 

  



Cantilevers and Components 
 

 

www.pfisterer.com      9 

 

 

ALUMINIUM CANTILEVER IN MAIN LINE FOR CONVENTIONAL RAILWAY LINES 

Assembly No. 234.000.014  

 
Application:  

■ 15/25 kV AC 
■ Contact wire: AC/BC 80/150 
■ Messenger wire: 50 mm2 
■ Straight tracks 
■ Simple curves 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

  

No. Description Material Qty  

234.022.021 

(SGM-05) 
Swivel bracket 

AlSi7Mg0,6 T6 (UNE-EN 1706) 
2 1 

 

234.001.003 
(ASM.SSP-03) 

Swivel with clevis for cantilever bracket 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

2 2 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.004.555 
(ASM.SUT-55.55) 

Double tube holder 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 3 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.005.055 
(ASM.SUS-55) 

Catenary Wire support with hook for Ø55 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 4 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.023.090 
(BIMET 9) 

Bimetallic sleeve for 50 mm2  
Cupal 

1 5 
 

234.024.055 
(TP-55) 

Tube cap Ø55 
Black PVC 

2 6 
 

234.024.070 
(TP-70) 

Tube cap Ø70 
Black PVC 

0 7 
 

234.024.042 
(TP-42) 

Tube cap  Ø42 
Black PVC 

1 8 
 

234.025.012 
(BUCLE.25.12.INOX) 

Registration arm dropper 
St. Steel 14301 (UNE-EN-10088) 

1 9 
 

234.006.042 
(ASM.SGD-42) 

Stay yoke clamping hook 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 10 
 

234.012.055 
(ASM.SUA-55) 

Eye clamp for turn for  Ø55 tube 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 11 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.011.042 
(ASM.UGG-42) 

End fitting with hook for turn for  Ø42 tube 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 12 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.026.350 
(CONJUNTO TC 16.10 T) 

Earthing connection wire 
Cu-ETP 

1 13 
 

234.015.042 
(ASM.SFB-42) 

Steady arm support 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 14 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.021.105 
(ABATC-1050) 

Steady arm L=1050mm 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 15 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

304.742.002 
(G1TA CH) 

Contact wire clip 
CuNi2Si (S/UNE-EN 12165) 

1 16 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 



Cantilevers and Components 
  

 

10      www.pfisterer.com 

 

 

ALUMINIUM PUSH-OFF CANTILEVER IN SWITCHES FOR CONVENTIONAL 

RAILWAY LINES. Assembly No. 234.000.015 

 
Application:  
■ 15/25 kV AC 
■ Contact wire: AC/BC 80/150 
■ Messenger wire: 65 mm2 
■ Switches 
■  

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

No. Description Material Qty 

234.001.003 
(ASM.SSP-03) 

Swivel with clevis for cantilever bracket 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

2 1 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.007.055 

(ASM.SUG-55) 
Eye clamp for Ø55 tube 

AlSi7Mg0,6 T6 (UNE-EN 1706) 
2 2 

Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.004.570 
(ASM.SUT-55.70) 

Double tube holder 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 3 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.005.055 
(ASM.SUS-55) 

Catenary Wires support with hook for Ø55  
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 4 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.023.105 
(BIMET 10,5) 

Bimetallic sleeve for 65 mm2 MW 
Cupal 

1 5 
 

234.024.055 
(TP-55) 

Tube cap Ø55 
PVC 

2 6 
 

234.024.070 
(TP-70) 

Tube cap Ø70 
PVC 

1 7 
 

234.007.070 

(ASM.SUG-70) 
Eye clamp for Ø70 tube 

AlSi7Mg0,6 T6 (UNE-EN 1706) 
2 8 

Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.008.042 

(ASM.UTA-42) 
End fitting for Ø42 tube 

AlSi7Mg0,6 T6 (UNE-EN 1706) 
4 9 

Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.012.070 
(ASM.SUA-70) 

Eye clamp for turn for Ø70 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 10 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.011.055 
(ASM.UGG-55) 

End fitting with hook for turn for Ø55 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 11 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.026.350 
(CONJUNTO TC 16.10 T) 

Earthing connection wire 
Cu-ETP 

1 12 
 

234.015.055 
(ASM.SFB-55) 

Steady arm support 
AlSi7Mg0,6 T6 (UNE-EN 1706) 

1 13 
Hardware: St. Steel A2 (UNE-EN ISO 3506) 

234.019.100 

(ABAT-1000C) 
Curved steady arm 

AlSi7Mg0,6 T6 (UNE-EN 1706) 
1 14 

Hardware: St. Steel A2 (UNE-EN ISO 3506) 

304.742.002 
(G1TA CH) 

Contact wire clip 
CuNi2Si (S/UNE-EN 12165) 

Hardware: St. Steel A2 (UNE-EN ISO 3506) 
1 15 

 

  



Cantilevers and Components 
 

 

www.pfisterer.com      11 

 

 

SWIVEL BRACKET 
This part is used to hinge cantilevers. 

 
 
Application:  

■ Hinge cantilevers 

 

 
Material:  

■ Casting part: AlSi7Mg 0,6 T6 (UNE-EN 1706) 
 
 
 
 

 

 
 
 
 

 

No ID-code Dimension A Weight 

  

(mm) 

 

(kg) 

234.022.017 SGM-01 17 0,496 

231.022.021 SGM-05 21 0,496 

 
 
 
 
 
 
 
 
 

  



Cantilevers and Components 
  

 

12      www.pfisterer.com 

 

 

CANTILEVER SUPPORT 
This part is a swivel with clevis for cantilever bracket.  

 
 
Application:  

■ Support of turn of cantilever to mount on pole 

 

 
Material:  

■ Part: See table below 
■ Clevis pin: St. Steel (A2) (EN ISO 3506) 
■ Split pin: St. Steel (1.4301 UNE-EN 10088) 
■ Washers: St. Steel (A2) ( EN ISO 3506) 

 
 

 
 
 
 
 

No ID-code Material Bolt Diameter 

A 

(mm) 

 

B 

(mm) 

Weight 

 

(Kg) 

234.001.001 ASM.SSP-01 AlSi7Mg0,6 T6 (UNE-EN 1706) 20 16 - 

234.001.002 ASM.SSP-02 C-45 (EN-10083) 20 20 0,78 

234.001.003 ASM.SSP-03 AlSi7Mg0,6 T6 (UNE-EN 1706) 20 20 0,51 

234.001.004 ASM.SSP-04 C-45 (EN-10083) 17 20 - 

234.001.005 ASM.SSP-05 AlSi7Mg0,6 T6 (UNE-EN 1706) 17 20 - 

 

 

 

  



Cantilevers and Components 
 

 

www.pfisterer.com      13 

 

 

CANTILEVER SUPPORT 
This part is a swivel with tongue for cantilever bracket.  

 
 
Application:  

■ Support of turn of cantilever to mount on pole 

 

 
Material:  

■ Casting part: See table below 
■ Clevis pin: St. Steel (A2) (EN ISO 3506) 
■ Split pin: St. Steel (1.4301 UNE-EN 10088) 
■ Washers: St. Steel (A2) ( EN ISO 3506) 

 
 
 

 
 

 

 

No ID-code Material Bolt Diameter 

A 

(mm) 

 

B 

(mm) 

Weight 

 

(Kg) 

234.002.001 ASM.SIP-01 AlSi7Mg0,6 T6 (UNE-EN 1706) 16 16 0,687 

 
 
 
 
 
 
 

  



Cantilevers and Components 
  

 

14      www.pfisterer.com 

 

 

CANTILEVER SUPPORT 
This part is a swivel with tongue for cantilever bracket.  

 
 
Application:  

■ Support of turn of cantilever to mount on pole 

 

 
Material:  

■ Casting part: See table below 
■ Clevis pin: St. Steel (A2) (EN ISO 3506) 
■ Split pin: St. Steel (1.4301 UNE-EN 10088) 
■ Washers: St. Steel (A2) ( EN ISO 3506) 

 
 
 

 
 

 

 

No ID-code Material Bolt Diameter 

A 

(mm) 

 

B 

(mm) 

Weight 

 

(Kg) 

234.002.002 ASM.SIP-02 AlSi7Mg0,6 T6 (UNE-EN 1706) 20 19 0,82 

234.002.003 ASM.SIP-03 AlSi7Mg0,6 T6 (UNE-EN 1706) 20 16 0,82 

 
 
 

  



Cantilevers and Components 
 

 

www.pfisterer.com      15 

 

 

THREADED TONGUE END FITTING 
This part is used to connect the traction insulator with the top cantilever tube. 
 
 
Application:  

■ Threaded end fitting  

 

 
Material:  

■ Casting part: AlSi7Mg 0,6 T6 (UNE-EN 1706) 
■ Screws: St. Steel (A2-70) (UNE-EN ISO 3506) 
■ Nuts: St. Steel (A2-70) (UNE- EN ISO 3506) 
■ Washers: St. Steel (A2) (UNE- EN ISO 3506) 

 
 

 

 
 
 
 

 

No ID-code Diameter tube Tightening torque 

M20 

Weight 

(mm) (Nm) (kg) 

234.003.055 ASM.UTA-55R 55 135 0,877 

 
 
 
 
 

  



Cantilevers and Components 
  

 

16      www.pfisterer.com 

 

 

THREADED TONGUE T-END FITTING 
This part is used to connect the traction insulator with the top cantilever tube. 
 
 
Application:  

■ Threaded end T-fitting  

 

 
Material:  

■ Casting part: AlSi7Mg 0,6 T6 (UNE-EN 1706) 
■ Screws: St. Steel (A2-70) (UNE-EN ISO 3506) 
■ Nuts: St. Steel (A2-70) (UNE- EN ISO 3506) 
■ Washers: St. Steel (A2) (UNE- EN ISO 3506) 

 
 

 

 
 
 

 

No ID-code Diameter tube Tightening torque 

M20 

Weight 

(mm) (Nm) (kg) 

234.003.155 ASM.UTA-55RT 55 135 1,020 

 

 

 

 

 

  



Cantilevers and Components 
 

 

www.pfisterer.com      17 

 

 

DOUBLE TUBE HOLDER CLAMP 
This clamp is used to connect the cantilever tube with the top tube. 
 
 
Application:  

■ Double tube holder 

 

 
   Material:  

■ Casting part: AlSi7Mg 0,6 T6 (UNE-EN 1706) 
■ Screw:  

-M20: St. Steel (A2-70) (UNE-EN ISO 3506) 
-M12: St. Steel (A2-80) (UNE-EN ISO 3506) 

■ Nuts: 
- M20: St. Steel (A2-70) (UNE- EN ISO 3506) 
- M12: St. Steel (A2-35) (UNE- EN ISO 3506) 

■ Washers: St. Steel (A2) (UNE-EN ISO 3506) 
■ Pin: St. Steel A2 (UNE-EN ISO 3506) 

 

 
 

No ID-code Diameter tube Dimensions Tightening torque Weight 

Tube E Tube F A B C D M12 M20 

  (mm)             (mm) (mm) (mm) (mm) (mm) (Nm) (Nm) (kg) 

234.004.555 ASM.SUT-55.55 55 55 76 76 80 80 58 135 1,80 

234-004.570 ASM.SUT-55.70 55 70 85 76 90 80 58 135 2,02 

234.004.770 ASM.SUT-70.70 70 70 85 85 90 90 58 135 2,26 

 

 

  



Cantilevers and Components 
  

 

18      www.pfisterer.com 

 

 

CATENARY WIRE SUPPORT CLAMP 
This clamp is used to connect the messenger wire with the top tube. 
 
 
Application:  

■ Messenger wire support 

 

 
Material:  

■ Casting part: AlSi7Mg 0,6 T6 (UNE-EN 1706)  
■ Screw: St. Steel (A2-70) (UNE-EN ISO 3506) 
■ Screw St. Steel (A2-80) (UNE-EN ISO 3506) 
■ Nuts: St. Steel (A2-35) (UNE- EN ISO 3506) 
■ Washers: St. Steel (A2) (UNE-EN ISO 3506) 

 
 

 
 

 

No ID-code Diameter tube Messenger wire cross 
section 

Dimensions Tightening torque Weight 

(mm) (mm2) 

A 

(mm) 

B 

(mm) 

M12 

(Nm) (kg) 

234.005.055 ASM.SUS-55 55 65-150 13-18 114 58 1,13 

234.005.070 ASM.SUS-70 70 65-150 13-18 121 58 1,53 

 
Suitable Bimetallic sleeves: 234.023.XXX 

 

 

 

  



Cantilevers and Components 
 

 

www.pfisterer.com      19 

 

 

HOOK CLIP 
This part is used to connect the cantilever dropper with the registration tube. 
 
 
Application:  

■ Cantilever dropper 

 

 
Material:  

■ Casting part: AlSi7Mg 0,6 T6 (UNE-EN 1706) 
■ Screws: St. Steel (A2-70) (UNE-EN ISO 3506) 
■ Nuts: St. Steel (A2-70) (UNE-EN ISO 3506) 
■ Washers: St. Steel (A2) (UNE-EN ISO 3506) 
■ U-bolt: St. Steel (A2-70) (UNE-EN ISO 3506) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 

 

No ID-code Diameter tube 

 

(mm) 

Dimension 

A 

(mm) 

Tightening torque 

M12 

(Nm) 

Weight 

 

(Kg) 

234.006.042 ASM.SGD-42 42 70 45 0,42 

234.006.055 ASM.SGD-55 55 79 58 0,42 

 
 
 

  



Cantilevers and Components 
  

 

20      www.pfisterer.com 

 

 

EYE CLAMP 
This clamp is used for hinged cantilevers. 
 
 
Application:  

■ Single eye clamp  

 

 
Material:  

■ Casting part: AlSi7Mg 0,6 T6 (UNE-EN 1706) 
■ Nuts: St. Steel (A2-70) ( EN ISO 3506) 
■ Washers: St. Steel (A2) (EN ISO 3506) 
■ U-bolt: St. Steel (A2-70) (EN ISO 3506) 

 
 
 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

No ID-code Diameter tube Dimension   U-bolt Torque Weight 

   A B C    

  (mm) (mm) (mm) (mm)  (Nm) (kg) 

234.007.042 ASM.SUG-42 42       

234.007.055 ASM.SUG-55 55 78 25 50 M12 58 0,49 

234.007.070 ASM.SUG-70 70 94 30 62,5 M16 85 0,64 

 
 

  



Cantilevers and Components 
 

 

www.pfisterer.com      21 

 

 

CLEVIS END FITTING 
This part is used to connect the support tube with the cantilever tube or the top tube. 
 
 
Application:  

■ End fitting  

 

 
Material:  

■ Casting part: AlSi7Mg 0,6 T6 (UNE-EN 1706) 
■ Screws: St. Steel (A2-80) (UNE-EN ISO 3506) 
■ Nuts: St. Steel (A2-35) (UNE- EN ISO 3506) 
■ Clevis pin: Aluminium 
■ Split pin: St. Steel 1.4301 (UNE-EN 10088) 

  
 

 
 
 

 

No ID-code Diameter tube 

 

(mm) 

Tightening torque 

M12 

(Nm) 

Weight 

 

(kg) 

234.008.042 ASM.UTA-42 42 45 0,58 

 
 
 
 

  



Cantilevers and Components 
  

 

22      www.pfisterer.com 

 

 

BALL AND SOCKET 
This part is used to connect cantilever tube with the registration tube 
 
 
Application:  

■ Ball and socket 

 

 
Material:  

■ Casting part: AlSi7Mg 0,6 T6  (UNE-EN 1706) 
■ Clevis pin: Aluminium  
■ Split pin: St. Steel 1.4301 (UNE-EN 10088) 

 
 
 
 
 

        
 

 

 

 

No ID-code Clevis pin Weight 

  
(mm) (kg) 

234.009.001 ASM.STG-01 19 0,425 

 
 

  



Cantilevers and Components 
 

 

www.pfisterer.com      23 

 

 

CLEVIS END FITTING 
This clevis is used to connect the registration tube with the cantilever tube. 
 
 
Application:  

■ End fitting  

 

 
Material:  

■ Casting part: AlSi7Mg 0,6 T6 (UNE-EN 1706) 
■ Screws: St. Steel (A2-80) (UNE-EN ISO 3506) 
■ Nuts: St. Steel (A2-35) (UNE- EN ISO 3506) 
■ Clevis pin: Aluminium 
■ Split pin: St. Steel 1.4301 (UNE-EN 10088) 

 
 
 

 
 
 

 

No ID-code Diameter tube Tightening torque 

M12 

Weight 

(mm) (Nm) (kg) 

234.010.042 ASM.UTA-42A 42 45 0,86 

 
 
 

  



Cantilevers and Components 
  

 

24      www.pfisterer.com 

 

 

CLEVIS END FITTING 
This clevis is used to connect the registration tube with the cantilever tube. 
 
 
Application:  

■ End fitting  

 

 
Material:  

■ Casting part: AlSi7Mg 0,6 T6 (UNE-EN 1706) 
■ Screws: St. Steel (A2-80) (UNE-EN ISO 3506) 
■ Nuts: St. Steel (A2-35) (UNE- EN ISO 3506) 
■ Clevis pin: Aluminium 
■ Split pin: St. Steel 1.4301 (UNE-EN 10088) 

 
 
 

 
 
 

 

No ID-code Diameter tube Tightening torque 

M12 

Weight 

(mm) (Nm) (kg) 

234.010.055 ASM.UTA-55 55 58 0,58 

 
 

  



Cantilevers and Components 
 

 

www.pfisterer.com      25 

 

 

HOOK END FITTING 
This fitting is used to connect the cantilever tube with the registration tube. 
 
 
Application:  

■ End fitting  

 
 

Material:  

■ Casting part: AlSi7Mg 0,6 T6 (UNE-EN 1706) 
■ Screws: St. Steel (A2-80) (UNE-EN ISO 3506) 
■ Nuts: St. Steel (A2-35)(UNE- EN ISO 3506) 

 
 

 

 
 
 
 

No ID-code Diameter tube 

 

(mm) 

Dimension 

A 

(mm) 

 

B 

(mm) 

Tightening torque 

M12 

(Nm) 

Weight 

 

(kg) 

234.011.042 ASM.UGG-42 42 108,7 69 45 0,70 

234.011.055 ASM.UGG-55 55 141,5 89 58 0,77 

 
 

  



Cantilevers and Components 
  

 

26      www.pfisterer.com 

 

 

EYE CLAMP 
This clevis is used to connect the registration tube with the cantilever tube. 
 
 
Application:  

■ Eye clamp  

 
 

Material:  

■ Casting part: AlSi7Mg 0,6 T6 (UNE-EN 1706) 
■ Nuts: St. Steel (A2-70) (UNE- EN ISO 3506) 
■ Washers: St. Steel (A2) (UNE-EN ISO 3506) 
■ U-bolt: St. Steel (A2-70) (UNE-EN ISO 3506) 

 
 

 
 
 
 
 

No ID-code Diameter tube 

 

(mm) 

Dimension 

A 

(mm) 

Tightening torque 

M16 

(Nm) 

Weight 

 

(kg) 

234.012.055 ASM.SUA-55 55 80 58 0,91 

234.012.070 ASM.SUA-70 70 90 85 0,91 

 
 
 
 
 
 
 
 
 

  



Cantilevers and Components 
 

 

www.pfisterer.com      27 

 

 

EYE CLAMP FOR WINDSTAY 
This clamp is used to connect the anti-wind hanger with the registration tube. 
 
 
Application:  

■ Windstay  

 
 

Material:  

■ Casting part: AlSi7Mg 0,6 T6 (UNE-EN 1706) 
■ Nuts: St. Steel (A2-70) (UNE- EN ISO 3506) 
■ Washers: St. Steel (A2) (UNE-EN ISO 3506) 
■ U-bolt: St. Steel (A2-70) (UNE-EN ISO 3506) 

 
 

 
 
 
 
 

No ID-code Diameter tube 

 

(mm) 

Dimension 

A 

(mm) 

Tightening torque 

M12 

(Nm) 

Weight 

 

(Kg) 

234.013.042 ASM.SAG-42 42 47 45 0,35 

234.013.055 ASM.SAG-55 55 56 58 0,35 

 
 
 
 

  



Cantilevers and Components 
  

 

28      www.pfisterer.com 

 

 

WINDSTAY 
This part is used to connect the registration tube with the steady arm as a windstay. 
 
 
Application:  

■ Windstay 

 
 

Material:  

■ Part: St. Steel  
■ Washer: St. Steel 

 
 
 
 
 
 
 

 
 
 
 
 
 
 
 

No ID-code Length 

 

(mm) 

Weight 

 

(Kg) 

 234.014.065 AV-650 650 0,046 

 234.014.095 AV-950 950 0,070 

 234.014.100 AV-1000 1000 0,074 

 234.014.105 AV-1050 1050 0,078 

 234.014.110 AV-1100 1100 0,082 

  
 

  



Cantilevers and Components 
 

 

www.pfisterer.com      29 

 

 

STEADY ARM BRACKET 
This clamp is used to connect the steady arm with the registration tube. 

 
 

Application:  

■ Steady arm support  

 
 

Material:  

■ Casting part: AlSi7Mg 0,6 T6 (UNE-EN 1706) 
■ Screw: St. Steel (A2-70) (EN ISO 3506) 
■ Nuts: St. Steel (A2-70) (UNE-EN ISO 3506) 
■ Washers: St. Steel (A2) (UNE-EN ISO 3506) 
■ U-bolt: St. Steel (A2-70) (EN ISO 3506) 

 
 
 

 
 
 
 

No ID-code Diameter tube 

    

(mm) 

Dimension 

A 

(mm) 

Tightening torque 

M16                     M10 

(Nm)                   (Nm) 

Weight 

 

(Kg) 

234.015.042 ASM.SCB-42 42 240 58   38 1,68 

234.015.055 ASM.SCB-55 55 250 85 38 1,68 

 
 
 

  



Cantilevers and Components 
  

 

30      www.pfisterer.com 

 

 

STEADY ARM BRACKET 
This clamp is used to connect the steady arm with the registration tube. 

 
 

Application:  

■ Steady arm support  

 
 

Material:  

■ Casting part: AlSi7Mg 0,6 T6 (UNE-EN 1706) 
■ Screw: St. Steel (A2-70) (EN ISO 3506) 
■ Nuts: St. Steel (A2-70) (UNE-EN ISO 3506) 
■ Washers: St. Steel (A2) (UNE-EN ISO 3506) 
■ U-bolt: St. Steel (A2-70) (EN ISO 3506) 

 
 

 
 

 

No ID-code Diameter tube 

    

(mm) 

Dimension 

A 

(mm) 

Tightening torque 

M16                     M10 

(Nm)                   (Nm) 

Weight 

 

(Kg) 

234.016.042 ASM.SFB-42 42 180 58   38 0,77 

234.016.055 ASM.SFB-55 55 189 85 38 0,77 

 
 
 

  



Cantilevers and Components 
 

 

www.pfisterer.com      31 

 

 

ADJUSTABLE STEADY ARM BRACKET 
This clamp is used to connect the steady arms with the registration tube. 

 
 
Application:  

■ Steady arm support  
 

 
Material:  

■ Casting parts : AlSi7Mg 0,6 T6 (UNE-EN 1706) 
■ Screw: St. Steel (A2-70) (EN ISO 3506) 
■ Nuts: St. Steel (A2-70) (UNE-EN ISO 3506) 
■ Washers: St. Steel (A2) (UNE-EN ISO 3506) 
■ U-bolt: St. Steel (A2-70) (EN ISO 3506) 

 
 
 
 
 

                    
 

 
 

No ID-code Diameter tube 

    

(mm) 

Dimension 

A 

(mm) 

Tightening torque 

M16                         M10 

(Nm)                       (Nm) 

Weight 

 

(Kg) 

234.017.042 ASM.SRB-42 42 348 58 38 2,87 

234.017.055 ASM.SRB-55 55 357 85 38 2,87 

 
 
 

  



Cantilevers and Components 
  

 

32      www.pfisterer.com 

 

 

ADJUSTABLE DOUBLE STEADY ARM BRACKET 
This clamp is used to connect two steady arms with the registration tube. 
 
 
Application:  

■ Double steady arm support  
 

 
Material:  

■ Casting part: AlSi7Mg 0,6 T6 (UNE-EN 1706) 
■ Screws: St. Steel (A2-70) (EN ISO 3506) 
■ Nuts: St. Steel (A2-70) (UNE-EN ISO 3506) 
■ Washers: St. Steel (A2) (UNE-EN ISO 3506) 
■ U-bolt: St. Steel (A2-70) (EN ISO 3506) 

 
 
 
 

 
 

 

 

No ID-code Diameter tube 

    

(mm) 

Dimension 

A 

(mm) 

Tightening torque 

M16                   M10 

(Nm)                 (Nm) 

Weight 

 

(Kg) 

234.018.042 ASM.SRD-42 42 348 58 38 3,023 

234.018.055 ASM.SRD-55 55 357 85 38 3,023 

 
 
 

  



Cantilevers and Components 
 

 

www.pfisterer.com      33 

 
 

CURVED STEADY ARM 
This part is used to connect the cantilever with the contact wire clip. 
 
 
Application:  

■ Steady arm in overlap 

 
 

Material:  

■ Casting parts: AlSi7Mg 0,6 T6 (UNE-EN 1706) 
■ Tubular tube: EN AW-6082 (UNE-EN 573) 
■ Screws: St. Steel (A2-70) (UNE-EN ISO 3506) 
■ Nuts: St. Steel (A2-70) (UNE-EN ISO 3506) 
■ Washers: St. Steel (A2) (UNE-EN ISO 3506) 
■ Pivot: St. Steel (A2) (UNE-EN ISO 3506)  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 Pivot Ø 24mm optional  
 
 
 

 

No ID-code Length 

L A 

Pivot Weight 

(mm) (mm) (mm) (Kg) 

234.019.100 ABAT-1000C 1000 568 16 1,99 

234.019.097 ABAT-1000C V1 968 468 16 1,95 

 
Remarks:  

Other length available on request 

Screw, nut and washer for earthing connection included (M10) 

Contact wire clip supplied separatly 

 

 

  



Cantilevers and Components 
  

 

34      www.pfisterer.com 

 
 

BENT STEADY ARM 
This part is used to connect the cantilever with the contact wire clip. 
 
 
Application:  

■ Steady arm 

 
 
Material:  

■ Casting parts: AlSi7Mg 0,6 T6 (UNE-EN 1706) 
■ Rectangular tube: EN AW-6082 T6 S/UNE-EN 573 
■ Rivet: EN AW-Al 99,5 S/UNE-EN 573 
■ Screws: St. Steel (A2-70) (UNE-EN ISO 3506) 
■ Nuts: St. Steel (A2-70) (UNE-EN ISO 3506) 
■ Washers: St. Steel (A2) (UNE-EN ISO 3506) 
■ Pivot: St. Steel (A2) (UNE-EN ISO 3506)  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
  Pivot Ø 24mm optional 

 

 

No ID-code Length 

L  

Pivot Weight 

(mm)  (mm) (Kg) 

234.020.115 ABAT-1150C 1500  16 1,55 

 
Remarks:  

Other length available on request 

Screw, nut and washer for earthing connection included (M10) 

Contact wire clip supplied separatly 

 

  



Cantilevers and Components 
 

 

www.pfisterer.com      35 

 
 

STEADY ARM 
This part is used to connect the cantilever with the contact wire clip. 
 
 
Application:  

■ Steady arm 

 

 
Material:  

■ Casting parts: AlSi7Mg 0,6 T6 (UNE-EN 1706) 
■ Rectangular tube: EN AW-6082 T6 S/UNE-EN 573 
■ Rivet: EN AW-Al 99,5 S/UNE-EN 573 
■ Screws: St. Steel (A2-70) (UNE-EN ISO 3506) 
■ Nuts: St. Steel (A2-70) (UNE-EN ISO 3506) 
■ Washers: St. Steel (A2) (UNE-EN ISO 3506) 
■ Pivot: St. Steel (A2) (UNE-EN ISO 3506)  

 
 
 
 
 
 
 
 
 
 
 
 

Pivot Ø 24mm optional 
 

No ID-code Length 
 

(mm) 

Weight 
 

(Kg) 

234.021.080 ABATC-800 800 1,16 

234.021.085 ABATC-850 850 1,18 

234.021.087 ABATC-875 875 1,19 

234.021.090 ABATC-900 900 1,20 

234.021.095 ABATC-950 950 1,22 

234.021.100 ABATC-1000 1000 1,25 

234.021.105 ABATC-1050 1050 1,28 

234.021.110 ABATC-1100 1100 1,30 

234.021.115 ABATC-1150V 1150 1,33 

234.021.120 ABATC-1200 1200 1,36 

234.021.125 ABATC-1250 1250 1,38 

234.021.130 ABATC-1300 1300 1,40 

234.021.138 ABATC-1385 1385 1,43 

234.021.140 ABATC-1400 1400 1,44 

Contact wire clip supplied separatly 

Screw, nut and washer for earthing connection included (M10) 

 

 

 

  



Cantilevers and Components 
  

 

36      www.pfisterer.com 

 
 

CONTACT WIRE CLIP HOLDER CLAMP 
This clamp is used for out of running of the contact wire clip. 

 
 
Application:  

■ Clamp Wire holder 
■ Overlap   

 

 
Material:   

Casting part: AlSi7Mg 0,6 T6 (UNE-EN 1706) 

■ Nuts: St. steel (A2-70) (EN ISO 3506) 
■ Washers: St. Steel (A2) (EN ISO 3506) 
■ U-bolt: St. Steel (A2-70) (EN ISO 3506) 
■ Pivot: St. Steel (A2) (UNE-EN ISO 3506 

 
 
 
 

 
 
 
 
 

No ID-code Diameter Al tube 

 

(mm) 

Dimension 

A 

Tightening torque 

M16 

(Nm) 

Weight 

 

(Kg)  (mm) 

234.027.042 ASM.SGH-42 42 67 58 0,83 

234.027.055 ASM.SGH-55 55 58 85 0,83 

 
 
 
 

  



Cantilevers and Components 
 

 

www.pfisterer.com      37 

 
 

CONTACT WIRE CLIP 
This clip is used to connect the steady arm or clamp holder with the contact wire. 
 
 
Application:  

■ Contact wire  
■ Steady Arm 
■ Clamp holder  

 
 
Material:  

■ Forged parts: CuNi2Si (UNE-EN 12165) 
■ Washer: St. Steel (A2) (UNE- EN ISO 3506) 
■ Screw: St. Steel (A2-80) (UNE-EN ISO 3506-1) 

 
 
 

 
 
 

 

No ID-code Screw Contact wire  Dimensions Pivot Dimensions Tightening  

Torque  

M10 

Weight 

  
A B C D E 

    
(mm) (mm) (mm) (mm) (mm) (Nm) (kg) 

304 741 001 G1T Allen AC/BC 80/150  23.5 75 53 23.7 15.7 38 0,21 

304 742 001 G1TA Allen AC/BC 80/150  23 70 50 16 10.5 38 0,18 

304 741 002 G1T CH Hexagonal AC/BC 80/150  23.5 75 53 23.7 15.7 38 0,22 

304 742 002 G1TA CH Hexagonal AC/BC 80/150  23 70 50 16 10.5 38 0,19 

 
 
 

 

 

 

 

 

  



Cantilevers and Components 
  

 

38      www.pfisterer.com 

 
 

BIMETALLIC SLEEVE 
This sleeve provides bimetallic connection between the messenger 
wire and the catenary wire support clamp. 
 
 
Application:  

■ Bimetallic connection 

 
 

Material:  

■ CUPAL  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

No ID-code Dimension Compression tool Weight 

A 

(mm) 

B 

(mm) 

C 

(mm) 

D 

(mm) 

 

(kg) 

234.023.090 BIMET 9 30,5 130 9 1 HG BIMET 0,016 

234.023.105 BIMET 10,5 35 130 10,5 1 HG BIMET 12 0,018 

234.023.130 000.025.023.V4 43 130 13 1 HG BIMET 15 0,025 

234.023.145 BIMET 120 47,5 130 14,5 1 HG BIMET 17 0,026 

234.023.165 BIMET 153 52 130 16,5 1 HG BIMET 18,5 0,028 

 
Suitable compression head: UKH.300.C / UKH.305.C 

Suitable electrical hydraulic compression pump: BE.12.2 / GHA702 

Suitable foot operated hydraulic compression pump: BP.12  

Suitable manual compression pump: UKH.300.2 / UKH.305.2  

 

  



Cantilevers and Components 
 

 

www.pfisterer.com      39 

 
 

CANTILEVER TUBES 
These tubes are used for aluminium cantilever. 
 
 
Application:  

■ Top tube 
■ Cantilever tube 
■ Registration tube 
■ Support tube 

 

 
Material:  

■ Tube: EN AW-6082 T6 or EN AW-6063 T6 

 
 
 

 
 
 
 

 

No ID-code Exterior diameter A 

 

(mm) 

Internal diameter B 

 

(mm) 

234.028.X42 TA-42-4-X 42 34 

234.028.X55 TA-55-6-X 55 43 

234.028.X70 TA-70-6-X 70 58 

 
*X in metres 

 
 
 
 
 
 
 

  



Cantilevers and Components 
  

 

40      www.pfisterer.com 

 
 

TUBE CAP 
This cap is used for cantilever tubes. 

 
 
Application:  

■ End cap for aluminium tubes 

 
 

Material:  

■ Black PVC 
 

 
 
 

        
 
 
 

No ID-code Diameter tube 

 

Dimensions 

 A B C 

  (mm) (mm) (mm) (mm) 

234.024.042 TP-42 42 42 41,8 46 

234.024.055 TP-55 55 55 51,6 57 

234.024.079 TP-70 70 70 67,8 57 

 
 

  



Cantilevers and Components 
 

 

www.pfisterer.com      41 

 
 

CANTILEVER DROPPER BUCLE 5.12 INOX 
This dropper is used to connect the top tube with the registration tube. 
 
 
Application:  

■ Cantilever dropper 
■ Registration arm dropper 

 
Material:  

■ Compression sleeve: St. Steel (A2) (UNE- EN ISO 3506) 
■ Cable lug: AlSI 316 (UNE-EN 10088) 
■ Thimble: St. Steel (A2) (UNE-EN ISO 3506) 
■ Cable: St. Steel 1.4401 (UNE-EN 10088)  

 

 
 
 

No ID-code Description Diameter Application 

 

Compression die Qty  

   (mm)    

234 025 012  Assembly     

- 625.012.81 Thimble 5 - 2 1 

- TPA 05 INOX 12 Cable lug 5 HG 16 PO 11  2 2 

- OVAL 5 INOX Compression sleeve 5 HG 16 PO 11  2 3 

- CABLE INOX.5* Cable 5 - 2.000 mm 4 

 
*BUCLE 5.12 INOX S/C: cable not included 

Dropper supplied without mounting 

Suitable manual compression tools: UKH.300.2 / UKH.305.2 

Suitable compression head: UKH.300C / UKH.305C 

Suitable electrical hydraulic compression pump: BE.12.2 / GHA702 

Suitable foot operated hydraulic compression pump: BP.12 

 
 
 

  



Cantilevers and Components 
  

 

42      www.pfisterer.com 

 
 

BONDING CONNECTION 
This connection provides a bonding connection. 
 
 
Application:  

■ Steady arm bonding connection 

 
 

Material:  

■ Cable lug: Cu-ETP (Tinned) (UNE-EN 12165)  
■ Cable: Cu-ETP (Tinned) (UNE-EN 12165) 

 
 
 
 
 
 

           
 
 
 
 
 
 
 
 

No ID-code Dimensions 

A L  

  (mm) (mm)  

234.026.350 CONJUNTO TC 16.10.T 10,5 350  

 
 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Cantilevers with Forged Components  
 

 
www.pfisterer.com      43 

 

 

 

 

 

 

 

  



Cantilevers with Forged Components  
 

 
www.pfisterer.com      45 

 
 

HIGH SPEED LINE CANTILEVER WITH FORGED ALUMINIUM FITTINGS 
 
 
Application:  
■ High speed lines  
■ 15/25 kV AC 
■ Contact wire: AC/BC 80/150 
■ Messenger wire: up to 150 mm2 
 
Advantages:  
■ Forged fittings with higher strength 
■ Lower life-cycle costs 
■ Intelligent fitting 

design allows 
many different 
cantilever 
geometries 

 
 
 
 
 
 
 
 

 
 
 
 
 

No Type   Size  
 
(mm) 

 

000 701 286-00 Push/Pull   3450  

 
 
 
 



Cantilevers with Forged Components 
 

 
46      www.pfisterer.com 

 
 

EYE CLAMP, FORGED 
  
 
 
Application:  
■ Single eye clamp  

 
 

Material:  
■ Forged double tube holder (EN AW- 6082 T6) 
■ U-bolt: M12 (Stainless steel A2-70) 
■ Nuts: M12 INOX UNI 5588 (Stainless steel A2-70) 
■ Washers: Washer 12x24 ISO 7089 (A2-70) 
■ Elastic washer: M12 UNI 1751 (A2-70) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

No Pipe  
diameter  
(mm) 

Max. Service  
Load 
(kN) 

Bolt  
 
(mm) 

Tightening 
Torque 
(Nm) 

Weight 
 
(Kg) 

000 701 290-00 70 10,7 M12 35 1,038 

000 701 290-01 55 10,7 M12 35 0,995 

 
  



Cantilevers with Forged Components  
 

 
www.pfisterer.com      47 

 
 

EYE CLAMP, FORGED 
  
 
 
Application:  
■ Single eye clamp  

 
 

Material:  
■ Forged single tube holder (EN AW- 6082 T6) 
■ U-bolt: M12 (Stainless steel A2-70) 
■ Nuts: M12 INOX UNI 5588 (Stainless steel A2-70) 
■ Washers: Washer 12x24 ISO 7089 (A2-70) 
■ Elastic washer: M12 UNI 1751 (A2-70) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

No Pipe  
diameter  
(mm) 

Max. Service  
Load 
(kN) 

Bolt  
 
(mm) 

Tightening 
Torque 
(Nm) 

Weight 
 
(Kg) 

000 701 291-01 70 6,786 M12 35 0,523 

 
 
  



Cantilevers with Forged Components 
 

 
48      www.pfisterer.com 

 
 

HOOK CLAMP, FORGED 
  
 
 
Application:  
■ Stay yoke clamping hook 

 
 

Material:  
■ Stay yoke clamping hook – forged (EN AW- 6082 T6) 
■ U-bolt: M12 (Stainless steel A2-70) 
■ Nuts: M12 INOX UNI 5588 (Stainless steel A2-70) 
■ Washers: Washer 12x24 ISO 7089 (A2-70) 
■ Elastic washer: M12 UNI 1751 (A2-70) 
■ Clip sheet metal (AISI 304) 
■ Rivet Al-stainless steel  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

No Pipe  
diameter  
(mm) 

Max. Service  
Load 
(kN) 

Bolt  
 
(mm) 

Tightening 
Torque 
(Nm) 

Weight 
 
(Kg) 

000 701 292-00 55 1,54 M12 35 0,5 

 
 
  



Cantilevers with Forged Components  
 

 
www.pfisterer.com      49 

 
 

DROP BRACKET, FORGED 
  
 
 
Application:  
■ Steady arm bracket 

 
 

Material:  
■ Steady arm anchoring – forged (EN AW- 6082 T6) 
■ U-bolt: M12 (Stainless steel A2-70) 
■ Nuts: M12 INOX UNI 5588 (Stainless steel A2-70) 
■ Washers: Washer 12x24 ISO 7089 (A2-70) 
■ Elastic washer: M12 UNI 1751 (A2-70) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

No Pipe  
diameter  
(mm) 

Max. Service  
Load 
(kN) 

Bolt  
 
(mm) 

Tightening 
Torque 
(Nm) 

Weight 
 
(Kg) 

000 701 293-00 55 2,55 M12 35 0,81 

 
 
  



Cantilevers with Forged Components 
 

 
50      www.pfisterer.com 

 
 

BRIDLE SUSPENSION, FORGED 
 
 
Application:  
■ Double messenger wire suspension 

 
 

Material:  
■ Main wire clamp – forged (EN AW- 6082 T6) 
■ U-bolt: M12 (Stainless steel A2-70) 
■ Nuts: M12 INOX UNI 5588 (Stainless steel A2-70) 
■ Washers: Washer 12x24 ISO 7089 (A2-70) 
■ Elastic washer: M12 UNI 1751 (A2-70) 
■ Flange bearing Ø 30x16 (Self-lubricating technopolymer) 
■ Split pin 5x63 ISO 1234 (A2-70) 
■ Screw hex cap M12x35 tot. thread UNI5739 (A2-70) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

No Pipe  
diameter  
(mm) 

Max. Service  
Load 
(kN) 

Bolt  
 
(mm) 

Tightening 
Torque 
(Nm) 

Weight 
 
(Kg) 

000 701 294-01 55 4,524 M12 
35 U-Bolt 
50 Hex. screw 

0,81 

 
 
  



Cantilevers with Forged Components  
 

 
www.pfisterer.com      51 

 
 

STEADY ARM, FORGED 
  
 
 
Application:  
■ Double messenger wire suspension 

 
 

Material:  
■ Hook for steady arm – forged (EN AW- 6082 T6) 
■ Body pin 5° – forged (EN AW- 6082 T6) 
■ Round head rivet (EN AW-6082 S T0) 
■ Tube rectangular 40x20x2,5, L=952mm (EN AW- 6082 T6) 
■ Pin (AISI 304) 
■ Spring pin Ø 4x24 (ISO 1337) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

No  Max. Service  
Load 
(kN) 

Length 
 
(mm) 

 Weight 
 
(Kg) 

000 701 295-00  2,549 1050  1,17 

 
 
 
  



Cantilevers with Forged Components 
 

 
52      www.pfisterer.com 

 
 

EYE CLAMP, FORGED 
  
 
 
Application:  
■ Swivel with clevis  

 
 

Material:  
■ Swivel clevis for Al cantilever - forged (S355JR EN 10025), hdg 
■ Pins Ø 19 L=55mm and 100mm – forged (S355JR EN 10025), hdg 
■ Washers: Washer M20 UNI 6592 (A2-70) 
■ Split pin Ø 5x35 UNI 1336 (A2-70) 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

No  Min. failing  
Load 
(kN) 

  Weight 
 
(Kg) 

000 701 297-00  > 60    1,268 

 
 
 
  



Cantilevers with Forged Components  
 

 
www.pfisterer.com      53 

 
 

EYE CLAMP FOR WINDSTAY, FORGED 
  
 
 
Application:  
■ Eye clamp for windstay 

 
 

Material:  
■ Eye Clamp Ø 55 for windstay, forged (EN AW- 6082 T6) 
■ U-bolt: M12 (Stainless steel A2-70) 
■ Nuts: M12 INOX UNI 5588 (Stainless steel A2-70) 
■ Washers: Washer 12x24 ISO 7089 (A2-70) 
■ Elastic washer: M12 UNI 1751 (A2-70) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

No Pipe  
diameter  
(mm) 

Min. failing  
Load 
(kN) 

Bolt  
 
(mm) 

Tightening 
Torque 
(Nm) 

Weight 
 
(Kg) 

000 701 298-00 55 > 6 M12 35 0,327 

 
 
 
 
  



Cantilevers with Forged Components 
 

 
54      www.pfisterer.com 

 
 

END FITTING WITH HOOK, FORGED 
  
 
 
Application:  
■ Pipe end fitting with hook 

 
 

Material:  
■ Hook end fitting Ø 55, forged (EN AW- 6082 T6) 
■ U-bolt: M12 (Stainless steel A2-70) 
■ Nuts: M12 INOX UNI 5588 (Stainless steel A2-70) 
■ Washers: Washer 12x24 ISO 7089 (A2-70) 
■ Elastic washer: M12 UNI 1751 (A2-70) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

No Pipe  
diameter  
(mm) 

Max. service  
Load 
(kN) 

Bolt  
 
(mm) 

Tightening 
Torque 
(Nm) 

Weight 
 
(Kg) 

000 701 299-00 55 4,524 M12 35 1,053 

 
 
 
 




